DETAIL A

SCALE1:4

Hex Bolts in assembly
Armrest:

Bolt M8x110 (ltem No.10)
Back legs:

Bolt M8x100 (ltem No.11)
Back middle:

Bolt M8x80 (Item No.12)
Front legs:

Bolt M8x60 (ltem No.13)

DETAIL B

SCALE1:4

ITEM

PART NUMBER

DESCRIPTION

QTY.

NO.
Timeout Sofa 2-seater bench for backrest. Plywood
1 |H-04-017-A frame, ba 1504017 ‘
2 |H-04-016-A Timeout 2-seater sofa assembly backrest, ba1504016 | 1
3 |H-04-021-A Timeout sofa armrest, right, ba1504020 1
4 |H-04-021-A Timeout sofa armrest, left, ba1504021 1
Timeout sofa turned backleg 1-2-3 seater and Bow
5 |H-04-007-T 45°, BU15040701 2
Timeout sofa turned front leg 1-2-3 seater and Bow
6 |H-04-005-T 45°, BU15040501 2
Timeout sofa distance spacer armrest, solid wood,
7 |H-04-026-T BU15040801 5
8 |H-04-043-S Timeout sofa corner steel bracket, ba300401 2
9 Washer Steel Pleksor 5084222000 Washer M8x24x2,0 DIN9021 Zn. 14
M8x24x2,0 ba9509209
10 Hexagon Socket Pleksor 1091208084 M8x110mm Zn. Hexagon Socket 8
Bolt M8x110 Bolt, DIN 9212, Zn. ba952306
11 Hexagon Socket Pleksor 1091208082 M8x100mm Zn. Hexagon Socket 4
Bolt M8x100 Bolt, DIN 912, Zn. ba902312
12 |[Hexagon Socket Pleksor 1091208080 M8x80mm Zn. Hexagon Socket )
Bolt M8x80 Bolt, DIN 912, Zn. ba%02311
13 Hexagon Socket Pleksor Hexagon Socket Bolt 8x60mm,DIN912,Zn. 4
Bolt M8x60 1091208060. ba%02310
14 gafst'ggd Screw Pleksor 0112113311 4,5x20mm Zn. ba950124 16
15 |Glide @22mm Pleksor 5272201004* @22mm White Plastic ba760077 4
16 |H-04-031-FO Timeout sofa armrest, top foam HR 44195, ba200402 | 2
17 |H-04-032-FO Timeout sofa armrest, side foam HR 44195, ba200403 | 4
18 |H-04-075-FO Timeout 1-seater sofa/bench, seat foam, ba200405 2
19 |H-04-077-FO Timeout sofa seat, side foam HR 44195, ba200418 2
Timeout 3-seater seat, front/back foam HR 44195,
Timeout sofa 2-seater backrest, back foam HR 44195,
21 |H-04-081-FO 602004146 ]
29 Timeout backrest Timeout 2-seater backrest, front foam HR44195, 1

foam

a200409

Date approved: Date created: DIMENSIONS IN MILLIMETERS
2021 _05_1 4 2021 _04_28 EUROPEIAN PROJECTION H E I I A N D®
Approved by: Tolerance: {} @
Leine.D +/- 0,3 mm P.0 Box 10, NO-6259 Stordal
Drawn by: Sheet format/size Scale. Units UNLESS OTHERWISE SPECIFIED: Last saved:
Jaanson.D A3 1:8 | mm DIMENSIONS ARE IN MILLIMETERS  [2021-05-17
Weightin grams: | Material: THIS DRAWING IS THE PROPERTY OF HELLAND AS Last saved by:
AND MUST NOT BE COPYED OR USED
WITHOUT OUR APPROVAL. Da nel
Description Part number/name: Revision | Config name:
Timeout Sofa 2-seater H-04-018-A %gfnat)egt;v'th
w-armrest, HB0402 sides




	2-seater W-armrest
	Drawing View3
	Drawing View4
	Detail View A (1 : 4)
	Detail View B (1 : 4)


